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Classifying Reactions Comic: Tangled


Decomposition:
AB               A + B
2H2O             2H2  + O2
[image: http://images4.fanpop.com/image/photos/21800000/Rapunzel-Meets-Her-Parents-disney-females-21822179-1876-1080.jpg]                          [image: See the source image]          [image: See the source image]            [image: See the source image]

Synthesis: 
A + B 	AB
2Na + Cl2                            2NaCl
[image: See the source image]            [image: See the source image]                        [image: See the source image]
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Single replacement:
AB + C                     AC + B
2Al + 3CuCl2                         3Cu + 2AlCl3
[image: See the source image]               [image: See the source image]                       [image: See the source image]             [image: See the source image]

Double replacement: 
AB + CD                AD + BC
AgNO3 + NaCl           AgCl + NaNO3
[image: See the source image]             [image: See the source image]                        [image: See the source image]             [image: See the source image]
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